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What is the reason Rabi Yochonon does not say like Reish Lokish

OVERVIEW
The X3 asks for the reason why °"7 (who maintains "X D1wn» 1WX) does not agree
to 7" (that 2van own Wwx). Our MooINn clarifies the question.

mMooIn anticipates a difficulty with this question:
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Even though X211 derives the ruling of ' (that 1°xn 21w»n W) from 2°212; how
can the X3 ask why *"1 disagrees with 9", since " derives his ruling from 2’105 —

mooIn responds:
- 2\’)",75 Y95 N0 ONINNR NYITH NP INIPIND 19 N

The 25702 should have been interpreted for another lesson (not for 21wn WX
1x1), since the logic is with %''1 (that 1mn own wK).

mooIn offers an alternate explanation:
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Or you may also say; that now the X773 assumed that the one who maintains WX
xR 2w (that is °'"7) does not agree that YW can also be liable 1yan 2w -

292999 DIYN 295N NY ININ >SN 19 1994 NN S¥ap)
Therefore the X773 inquires in a case where ‘his arrows are expended’, why is

he not liable on account that it is his money. The fact that we derive from a 709 that
YN 0Wwn WR, does not exclude that (when it is not 1°¥17) it can still [also] be 11327.

! See later on 2,25 (towards the bottom of the 7TnY).

> Moo may mean that it is difficult to accept that ¥¥m @wn WX, as X2 points out the difference between them,
whereas the damage of 1°¥17 come directly from the action of the person; fire, however spreads through outside forces
(as well), such as the wind. See ‘Thinking it over’.

? ¥ 1 195 means that when the fire was made originally it had the potential to reach a certain area, but would not
extend further (there was an encircling [stone] wall which would contain the fire). However once the fire started, the
wall crumbled (not because of the fire), enabling the fire to spread beyond the wall. However, this extension of the
fire cannot be included in the v¥17 of the original fire, since his ‘arrows’ of fire stopped at the wall and can go no
further. In this case there can be no 2vr of 1% OWwn WX (even according to *"7). It is as if someone shot an arrow at
a wall, and after the arrow left the bow, the wall crumbled and the arrow damaged someone on the other side of the
wall. It cannot be considered xr. The X3 assumed that 737 "1 maintains that WX is 21 only 1xr 0wwn» and not
1 owwn. The question is why does not "1 agree that WX is 217 also 11371 21wn; meaning that in this case even
though it is not 1% anymore, nevertheless he should be 1mn 2ywn 211 (once he saw that the wall crumbled he
should have taken steps to prevent it from going beyond the wall).
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SUMMARY

The X3 asked that since the logic of %" is more compelling (that 121772 D1Wn WR),
the mMo5 from where *"9 derives that vx¥r 0wn WX should be used for a different
purpose and *"1 should agree to "1. Alternately, why does °"1 maintain 21w» WX
131 exclusively; he should agree that 17 DWwn WX in a case of 17X 12 192.

THINKING IT OVER
Moo writes "3 ®1207.% If this is indeed so (that "3 is correct), why does the
X3 ask (first) *" K &S v" 5", since %" is more logical?’

4 See footnote # 2.
5 See TN WO XN # 42.
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